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ComeEHOpioHSEIEaE WioHEOBHGHSEIGGEA Corrcc: Opion Not Answered

PART - A (General Intelligence & Reasoning).

Q.No: 1 In each of the following questions, a pair of words (letter sequences) is given on the left-hand side of the double colon (::), which
follows a certain alphabetical pattern. Identify the logic in the first pair and apply the same logic to the third word to find the correct
corresponding werd from the options.

BOX : ANT :: FIX: ?

FAfefed ude ug ¥, il e (::) & 91 ofiR =] o1 Ueh g7 (3151 hH) e w8, Sit geh [Afga aufaren &3 a1 siqEeor ol g1
Ugel g | deh Ugani-g ofR [ehed! & 4 981 97 =g 1 & & foiy It deh o1 d1e e R @R iy
BOX : ANT:: FIX: ?

GHX

GHX
FGW

FGW
HIM

HIM

Q.No: 2 How many triangles are there in the given figure,

218 gl & Rt Broger 2

10

10
12

12
13

13

Q.No:3 [IfA:3: =2:?2:0G:5
HRA:3: o205
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Q.No: 4 INR 15000 at 10% compound interest compounded quarterly for 2 years yields?
10% kgl =aTat UR 2 a6l & forg 31cs U & gifaid 15000 F9d &l a14?
INR 18432

18432 Tud
INR 18276

18276 U8
INR 18654

18654 w0l
INR 18225

18225 w0l

Q.No: 5 Guitar, Piano, ¥iolin, Microphone = which is the odd one?

fier, fiamt, amafe, AEsieH - 398 9 & o1 faug 22
EEEaRE]
Violin
arfe

Piano

foamt

Guitar

fier

Q.No: 6 A figure consists of a square with 4 equal horizontal and 4 equal vertical lines dividing it into a 5x5 grid.
How many squares can be counted in total?

Qe AP H geh il & Fored 4 SR1eR S oflk 4 9 Seafer W g sif 39 5x5 fis § fowfea &dt &1
et el ol I 1T TR &7
550

550
259

259
750

750
850

850

QNo: 7 Identify the water image of: US91Q4M5W3
ot ft B wgam ax: US91Q4MSW3

2310t

cdl0OtN2M
N2610TN2M3
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N2610¢N2M3
NSBIOLWSME

NS3IOTNEME
N23I10tN2ME

N23I0YtN2ME

Q.No: 8  Which of the following is the correct sequence?

R 00
N0 08 OF GG
08 00
0 £

-~
-~
-2

. l .
L]
.\} l H

UL DO
NN EnaaEa

2
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Q.No: 9  Which one of the following figures breaks the pattern followed by the others?

AQST

A B c D
Frafafad 4 9 &1 € ol o=y aTeRfal gRT SiuATY Y G2 &l disdl 87

ABSH

Q.No: 10  What will be the next number in the series: 8, 12, 24, 60, ?
et § anTelt TwT g 8, 12, 24, 60, ?
100

100
180

180
120

120
150

150

Q.No: 11 Find the next term in the given series. 2Z, 4X, 8U, 14Q, ?

&1 TS 9f%gen # el US A1 Hifeig| 2Z, 4X, 8U, 14Q, ?
44N

44N
33K

33K

T1M
TTM

Q.No: 12 Choose the missing shape in the analogy.
@07
|1gg H T TR ! A
@®:@:0:7?
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Q.No: 13  In the following series, a specific pattern is followed for both the letters and the numbers. Identify the set of numbers that correctly
fills the blanks in the given sequence. Z, 51, X, 68,v, __,T,84,R, 83, P, __, N, 63,1, 44

FrafieEa sjgan 3, sart ofik dwera i1 & iy ves e de-t o1 urem ek man &1 Ry 1y e o Rea il &l 9l &7 8 w=A ard
T3t & 9@ & ugan-gl Z, 51, X, 68, v T,84,R, 83, P N, 63, L, 44

[ F RP—

(70, 65)
(70, 65)
(79, 76)
(79, 76)
(75, 70)
(75, 70)
185, 106)

185, 106)

Q.No: 14 Criteria to be selected as Junior Analyst
Eligibility Criteria (as on 15-07-2023):
Must have a B.Sc. in Statistics/Mathematics with minimum 65% marks.
Age between 23 and 30 years.
Must have completed a Data Analytics Certificate course.
Should have 2 years of analytical work experience.
Special Case:
If candidate has only 1 year experience, but has Master's degree in Data Science, refer to Project Manager.
Case:
Meera is 26 years old, B.Sc. in Statistics with 70% marks, has done a certificate course and holds a Master's in Data Science. She has
only 1 year experience.
What should be done in Meera’s case?

SR gfere & w0 § 94 & ArEs

UTEAT AFES (15-07-2023 96):

Hifeteht/nfvra & AT 65% 3ierl & Ty =g, i Z40 g =nfgul

g 23 ¥ 30 a9 & &)

3271 ATRife e Aféfthene shid 43T el BT T1igY

feecuUTTee S &l 2 9 & S g1 gyl

ey ATAET:

afe Infiear o Urd dhad 1 aH &1 3Hd g, Tifchd 3¢l 9189 # AR 310 g, dt vilae 89w & ueh &l
HIHT:

i 26 i §, ITA 70% diehl & Ty TifErht 7 S1.qw. Fi Z10 o $ g, 397 G Ticithae Hid ohaT g ofiT 3o aEa & A Fh
UI i ¢1 I U chol 1 98 &l A9 Bl

HiRT & g | =41 fohar S 9nfge?

Refer to Project Manage

U] 94 4 HUch |

Select the candidate

Iufiear &1 T

Refer ta HR
g e famT @ dudh &
Reject the candidate

Jafiear & AP &
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Q.No: 15 | Identify the figure that best fits in place of the question mark.
Question figure:
ﬁé ® AA & AA
AA AA
O O ®
Answer figure:
AA| |® AN L ] AAA
AA AN AA
A
AA
O e |[J Ad ®
[2] o]
uy g & W IR 9= Suad STfd & ugaH &l
U AT
2&. ® AA & AA
AA AA
O O ®
TR ATl
AA| |® AN L ] AAA
AA AN AA
A
AA
] e |[J AA *
[+] [c]
A
A
D
D
C
C
B
B
Q.No: 16  How many triangles are in the given figure?

Qg onepfa 7 fora Brget 82
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18

18
20

20
26

26

Q.No: 17 Read the situation and choose the best judgment:
You are shopping in a busy supermarket and notice a person quickly slipping a small, inexpensive item into their bag without
scanning or paying for it. The store appears understaffed, and no security personnel are immediately visible.

ff 7 uE ok @=d ares Pk -
T Ueh o0d GUeAThe H el e 38 § oflX ¢ad g & g aafae) wiet) € U BIE, T a5g ol fa1 @ &hg ar i fopg oot S &
1o 36T &1 TR A =i i &l o 61 §, 3R ig GRamesHi g G 8l & Wl 8!

wsr: 59 fRfA = 3wd gu, F=fefaa § 4 =  ar gad 3fde ot eler = 82

Directly confront the person and demand they pay for the item.

feRT a1 TS AT She 3 AN & ek a8 g% o [l I el

Ignore the incident, as itis a small item and not your responsibility.

FH HTAT Sl ARSI &, lieh dg Ydh BICT a%d g I ATTehl oer 981 g1

Take a photo or video of the person as evidence, then post it on social media.

39 eafa 6T aedi a1 difedl 9 & dR uR o, b 38 digre Jifzar w g & &)

iscreetly find a store employee or manager and quietly inform them of what you observed

El T Uelech &l & EGIY Eiil

Q.No: 18  Which figure breaks the 3D classification rule?
i it empfa 38 ffeor fom &t st 87

OoO>eFo o

Q.No: 19  Find the odd one out:
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Q.No: 20 Post: Project Manager - Urban Infrastructure Eligibility Criteria (as on 01-01-2025):
B.E./B.Tech in Civil or Urban Engineering with minimum 75% marks.
Must have completed MBA in Infrastructure/Project Management with 65% or above.
Total experience must be minimum 10 years, out of which at least 3 years as team lead.
Age limit: Maximum 42 years.
Candidate must have handled at least two full-cycle government projects.
Special Clause:
If no MBA, but 12+ years of experience including at least 2 years abroad, and led 3+ projects — refer to Advisory Board.
If project count is only one, but other conditions are fully met, refer to Infrastructure Commission.
Case:
sneha has 78% in B.Tech Civil, no MBA, 13 years of experience including 3 years abroad, and has led 4 projects (all for state
government).
Question: What should be done in Sneha’s case?

ue;: Hictae A9 - SiE ShReaae uTser ATues (f2Aiw 01-01-2025 aw):

e a1 s gsiifatan & &2, [&t.¢e ~gAan 75% i & a1yl

R (Uoiae F-eHe H YT Add 659% IT 399 Hfee e o A1y Il g1 a1zl

el M gAdH 10 a9 g aiey, Ged @ s @ wA 3 qu dm dis & =u A ghl

31y 1 SAfdehdH 42 99

Iafiear A &4 4 &4 of qui-gek (full-cycle) 9epr aRater=mail el dre gt

IGEILRC R

afe grefig 421 8, A 12+ ant o1 argwa @ s a9 @ &9 2 o e &7 argva e 8, ok 3+ uRaierail & e g —
YATgFR 913 ! T |

afe afatemrert S T aw U &, At o= 3 Ot o @ Mot €, 3 ShegeraR amaT & 99

ATAET:

TE1 & ur 1.2 fafae § 78% ofe &, e gwdie 181 2, 13 9 & arga & e 3 e fady & argve anfie 8, efiesge 4
afRgtarat (Tt vy TR & forg) &1 Aqa far g

UH: TgT & ATt ® o foear oI anfge?

Refer to Advisary Board

TATGHR I8 ol At |l

Reject the candidate

apeff &l aRTRR el

Select the candidate

Iufiear &1 9ga &l

Q.No: 21 What should be at the place of question mark?
Question Figure:

e A L

Answer Figure:

T
A @ i}
JAN
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e g & T W 94 g1 91ige?
T AT

e A

%
A
IR AT
V4 ® A
A

Q.No: 22 You are Browse online forums and accidentally stumble upon a link to a publicly accessible cloud storage folder. Upon clicking it, you
realize it contains hundreds of documents that appear to be sensitive personal data {like scanned passports, utility bills, and tax
documents) belonging to various individuals, indicating a major privacy oversight.

Given this situation, which of the following is the most ethical and responsible action?

1Y HTAATS WhITH FI3W & 38 § 31T Ted! § Ueh UF foieh U o T4 ¢ I Hidwi-eh ©U ¥ gAY 1138 WIe Whiest o &1 39 U f&ieh
e WR, SMMUh! Ul Toid] ¢ foh 308 Shsl aearad ¢ ot [ afaedt @ 9efia ddemfia afera 2o (S @4 fag 1y omie,
gieferl o ofR &a9 aaaey) Udid gid §, Off Ueh S8 U141 96 a1 Hehd &dl gl

39 R &l 3w gy, Ffcf@a 4 @ &t a1 wad Afde ok fowier & 82

immediately report the vulnerability to the platform's administrator or the relevant cybersecurity authority and avoid accessing the

Ignore the folder completely, as it's not your data and you don't want to get involved.

ThieaR &l U31 =8 § A1 Y, ifch U8 SATURT S¢1 781 g iR U 394 anfie =gl g 9iad|

Download the files to save them, then try to contact a few of the individuals directly to warn them about their leaked data.

THISH! 1 AR & fo7g SEAaTS &, R Fo aafaerl & Hid Jud =t T WA . dTfeh 378 39eh oiich g4 Sl & R & Jaras & o el

Copy the link and share it on social media to alert the public and expose the vulnerability.

foieh o1 hIUT & 3R QTdol(-ich =0 T 3ele e 2 Fedl o S9N & o fo1y 39 Tirel HifEar o2 i &l

Q.No:23 If5+3=23,6+4=34,then7+5=7
gig5+3=23,6+4=34,a@7+5=7
91

91
51

51

89
89
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Q.No: 24  Select the possible cubes that can be formed by folding the given sheet.

~J

Google Play

1]

O

y s
7] =
} SN )
A B
Bt
x| P

e 717 sfie i Gisa: S99 91 e a1e) SYTiad 991 &l 99 Fi

Ol zh

w0l \1,

ax
<>I|

Ll
" lwlo

A,C and D only

Sad AC 3R D
B and C Only

FaaBafRc
B,C,D only

had B,C,D
A,B,Conly.
had A,B,C.

Q.No: 25 In each of the following questions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Painter : Canvas :: Author : ?

At uds v & &l st & o9 g fafde ey foar man 81 39 a=s &t g Siferg ot oy g gm & ary gam erdf dEy @
edl g1 A ey Ty ar et J & oee Sugea e gl
R : FarE : daw : ?

Pen

choiHd
Publisher

EEINED

Q.No: 26  You find a wallet in your school library. What is the most appropriate action?

AT AT Thel &l AIZaRT § Yeh 9g3T HdT g1 9=4 3d s a7 gili?

Keep it for yourself and wait for someone to claim

38 - U ¥ 3R fohedt & 3|1 & o aui e
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Take the money and leave the wallet

RadaiRaganoig g

and It over to the librarian or authori

'

Ignore it

Y ToRIETST ¥

Q.No: 27  Choose the missing number in the fellowing analogy.

4:16:6:7
ffafad g § qu @ g1
4:16:6:7

30

30

24

24

18

18

56
36

Q.No: 28 'In a badminton knockout tournament with 57 players, what is the minimum number of matches needed to determine the winner?
57 fgentsat ard Uah sefHed Aieairse gAtae | farsiar & MeuiRor e & foiy grad fenas fi b1 siasgehdr g2
58

58
57

57
56

56
55

55

Q.No: 29 In each of the following questions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four choices given below.
Fire : Heat :: Friction: ?

Al v wa &l el & o= v il ey i man g1 39 g & g difeg ot oy g gm & ary A ordf dEy amEn
el g1 A Ry ¢ 9R Reredl # @ ge¢ Suged i A1)
3T : FOAT 2 UEOT ; ?

Q.No: 30 If A means ‘+', 0 means ‘=, V means ‘x’, and @ means '#', what is the value of:12A8V30605=7

ARAFR A+ g OFTaf '~ & Ve 'x' g afRomranf+' ¢, a1 12A8V3c 605 =R AT &7
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Q.No: 31 ‘What will come at the place of blank space?

e = & T o 347 Ame?
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Q.No: 32 You have four puzzle books on your shelf, and you decide to arrange them in every possible order, moving one book every 30
seconds. How long will it take to arrange all the books?

MU Stk U2 IR Ugel! fehd™™ &, 3fi¥ 310 S8 8% 999 A & aiedd & &1 thadl &d g, 8% 30 Ihe & U fohde &l I Jerd 2
it ferare! &! =a e o § feha=T aog @ ?

24 minutes

24 e

12 minutes

12 fime

4 minutes

4 fie

Q.No: 33 If we assign positions to letters A=1, B=2, ..., Z=26, what is the index sum of the word CAT?

R BH ASKI ol TIF UM &L A=1, B=2, ..., Z=26, I A& CAT 1 Fahich I 1 &7
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Q.No: 34  Choose the box that is similar to the box formed from the given sheet of paper (X).

(] [~ ] -
Q
X A B L D

39 919 &t T4 &1 &Y 1Y T i 2fE () § a4 Siew & 59 8

-

|

Cand D enly

thad ot afk &t
A, B,and C

U, o, afiz 4
B,C,and D

o, €t, s &t
Aand B

gafie st

Q.No: 35 Read the information carefully and identify the correct relationship between the persons mentioned in the question.
A is the brother of B.
C is the mother of A.
D is the daughter of C.
E is the father of D.
Question: How is B related to E?

& 7 TR Wi g Ue 3k U | Sfewiiad aafaddl & dra agt day agar |

A, B ST 9T 21
C, AR AETEI
D, CHhI g 21
E, DI fUaT 21
U4 B, E 4 g v Hefad 87

o

Eri

Wife

Tt

Cannot be determined

g g1 fehar o ehdr

Daughter

ER

Q.No: 36  Which of the following 3D shapes can be formed by folding the given 2D net?

L
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ferq 11y 28 S 1 HigeR F=feifga & € 9 91 32 enepfa 918 511 gahdl 82

Cube

e
Cuboid

PRI
Pyramid

[ELUGE]

Tetrahedron

‘

Q.No: 37 Ife:2:&:?
R 2 &7

‘

Q.No: 38 In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. Identify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
19384 : 31506 :: 28493 : ?

ffafed uds ua 8 & 9w 41 18 & St U (igia difchas a1 sisiotdiy e o1 urer el 81 o9 g i ugar Fifeig ik g3
SIS H g 91 9 e o olg 39 wal Sifeig) feu g ot & 9 98l fasey gl
19384 : 31506 :: 28493 : ?

40615

40615
41706

41706
40617

40617

50615
39615
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Q.No: 39

e

7

What should come at the place of question mark?

Question Figure:

L
/

]

N @

[]

[

i
®

Answer Figure:

[
AN

[]

[
o

AN

4
]

GET IT ON

Google Play

e FIg & T U o 31T |91igy?

S STeRfa:
[ ] 1N @

/ 0| O
IR AT

Q.No: 40 Criteria to be selected as Assistant Manager (as on 01-04-2023):
MBA degree with at least 65% marks.
Age between 26 to 32 years.
Must have minimum 2 years of management experience.
Must be fluent in English and Hindi.
Special Clause:
If candidate meets all but the language requirement, refer to Language Proficiency Panel.
Case:
Tarun is 30 years old, has MBA with 70% marks, and 3 years experience. He is fluent in English but not confident in Hindi.
What should be done in Tarun's case?

HEMa UHUE & ©9 § 904 & A3 (01-04-2023 d6):

& & T 65% 3iehl & Y THETY i f22ft

AR 26 9 32 99 & di=1

U 1 YAdH 2 99 &l AHd gF1 HG8F B

it afiz B & amiyarg g e 2

gy gz

e IRficaR |THl 61 AW Tl Blgar A HEWRATH] hl U ARl 8, dT HIHT Z&7dT Ot & |
AT

ST 30 T I &, Ik UTH 70% 3! & Oy gy §, ofit 3 g &1 orgvia &1 98 Siielt & |t YRuag §, oifer f8d) § enafasyr =g
Leenifl

01 & HTHC | 941 foman i =nfey?

Select the candidate

Sufiean & 9gd &
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Reject the candidate

Infiear @t SRR Y

Refer to Language Proficiency Pane

Refer to Managing Director

T Feare § 9ud e

Q.No: 41 What will be the alphabetical position index of the word DOG if all letters of the English alphabet are arranged in reverse order?
TR 3T JUMHTAT & T el &l Io¢ e | edaied T ST ot Ae& DOG T JUTHTAT T Foehich &1 gim?
23,13, 21

22,4334
22,12, 20

22,12,20
22,13, 21

22,13, 21

Q.No: 42 In each of the following questions, a number series is given. In each series, only one number is incorrect. Identify the wrong number.
2,4,8, 16,34, 64

et uds vy § ush 9w 9@ &1 7S 81 Ui H@dl H chadl Udh H%A1 Teld & | TTetd 91 Ugd1-gl 2, 4, 8, 16, 34, 64

R~ =

Q.No: 43 Which of the foliowing follows the correct pattern of the question figure?

Question figure:

ga A = =0 *
a gja 0
OlAAQ[AAO[MA
Answer figure:
= O %O % AlIO0=0|=0 *
O A= 2 A *IO A
Al 2

A 204 #
1 2
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fFefafEd § @ &9 91 uy sl & He1 WU T FFE0 ¥l &7

Question figure:

OA A =0 %
d gg 0
O|AAQ|AAO|AA

Answer figure

= OO AIO=0|=0 =%

O A= 24 *O A
A 210 4 g Al %
1 2 3 4

‘

Q.No: 44 If3+2=154+3=28, whatis5+4?
AR3+2=154+3=28 dr5+4g?

73]
‘

36
32

32

Q.No: 45  Choose the missing figure in the complex pattern.

eI@080@"?
S e F g anefa g

Q.No: 46  Ramesh is taller than Suresh but shorter than Naresh. Naresh is taller than Umesh.
Who is tallest?

2T, AT & e ¢ Sifeha AR 9 Sier g1 AR, 30U 9 F@6 g
Y w=l i g7

aresH

ECEl

Ramesh
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H

Suresh

E3cElf

Umesh

IRe: Kl

Q.No: 47 In each of the following questions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four cheices given below.
Metaphor : Language :: Algorithm : ?

e uddes wet | & 2real & g ues fafdve gy femn man @1 34 arsg Y uga Fifong ot oy o g & ary ao aref dEy e
&edl g1 A ey 7Y ar faeedt A & ged Juged fdeseu gHg)
UH ; 9T ;: Qe & ?

Instruction

IS

Process

Computer

R

Q.No: 48  What will come at the place of question mark?

A B C

Al Al =] ?

U =g & T U= & mg?

A B C

AlllAl]l =] ?

A
A
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Q.No: 49  How many straight lines are there in the star figure?

AR AT R A e et g &2

20
20

Oooowoun

Q.No: 50 Choose the figure that is different from the rest in terms of the observed sequence or rule.

rd
\ e Le 3

/

A B c D

a8 HTeplT T o Wiea g a1 Faw & deH A arehl | (9= g

o b

7

o o0 O

PART - B (General Awareness)
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Q.No: 51 Which of the following statements best links a current conservation initiative for the Great Indian Bustard with its geographical
location?

FrafeifEd 3 9 o1 91 ouH U 3309 9% & Ty 3daH a7 Ugd ol 39 Hivifele I & 91y 999 ! dvg 4 wiisdi a?

Mational Avian Research Centre in Maharashtra conducted habitat simulation for GIB.

TERTE R e faa srgeym e 3 Sitenddl & forg smar Rt & smdter e

Kalyan Sanctuary in Karnataka now houses the largest wild GIB population.

TTeeh o ShedToT AR | 2T ge 99t Sl sitengst amaet &1

ndia's first successful artificial insemination of GIB tock place in the National Breeding Centre in Jaisalmer, Rajasthan

A GIB conservation breeding centre was set up in Kutch, Gujarat for desert climate adaptation.

AT FAaTg SFged o Y ORI o Fos § Qoh GilalTse SXeaT0] Hul-- ohe w=11Tud fehar mam|

Q.No: 52  Match the column:

Column A (Conductor Type)  Column B (Mobile Charge Carriers)

A, Metal 1. Positive and negative ions
B. lonised gas 2. Electrons and positively charged ions
C. Electrolyte 3.Electrons
& ol Al e
HicH A (FBaeT UehIR) | @hictH B (Hi=mg« 9T argeh)
A UG 1. TR 3R RIS AT
B. Mt g 2. Sotegi offT e=mafag ama
C. SHRIAEE 3. geragHt
A=3, B=2, C=1
A-3, B-2, C-1
A — B_ C_
A— B_ C_
A-1,B-2, C-3
A-1,B-2, C=3
A-3,B-1,C-2
A-3,B-1, C=2

Q.No: 53  Which of the following statements are correct?
(1) Birth rate measures the number of children born per 1000 people annually.
(2) Pull factors include opportunities that attract people to new regions.
(3) peath rate is always higher than birth rate.
(4) Push factors can include civil unrest and lack of jobs.

o dd s sy g 87

(1) w1 &= uf s 0fd 1000 & o= GeT G614 a7t S=ai el U &l 71T gl
(2) o7 Rt B 3 =R 2NTHe & S @ et A7 851 T 37T MTeRtd wed &1
(3) 75 = g o+ =X I arfdsh BT 81

(4) g el # A arenifa ofik it $it wt i g a=dt 81

All of the above
FUE & axft
2 and 3 only

thad 2 AR 3
1, 2, and 4 onlyf

-
thd 4
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1 and 3 only
had 1 3R 3

Q.No: 54  What does the term 'capital formation' refer to in macroeconomics?

At srfame § 'guft AT (Capital Formation) fone ufehan &t gafar &2

rowth in production capacity through investmen

20 ch HIYH H Il &THdT
Decrease in foreign direct investment

T faaft Faer & ot

Expansion of consumer credit

JUHTET 0T ohl faedR

Increase in financial savings

g s=a A gig

Q.No: 55  Which of the following North-Eastern states has areas governed under the Sixth Schedule?

FrfeifEa & @ e gatr Tod & 85 Bt e & sfarid e g2

(S

Manipur

AR

Magaland
BUIGES

Arunachal Pradesh

SFBUTTE H&aT

Q.No: 56  What is the punishment for abetment of an offense under the POCSO Act?
UTerdt arfafay & afaia fendt aroerer & Idre (abetment) & forg aan g8 FRuffa &2

ame punishment as the offens

Bl GHH &
Half the punishment prescribed for the offense

el SuRTY & foig Feifia €3 &1 smer
Mo punishment

H1E &3 AT

Community service

BESUREEl

Q.No: 57 Which layer of the Earth's atmosphere is primarily responsible for absorbing ultraviolet radiation from the Sun?
et & GHE i HiF I Ued T ¥U @ g4 T WETH G @i saeniiia @ & fog SR 827

R

Stratosphere

| Eev g

Mesosphere

HEERRR

Troposphere

&1 Hae

Q.No: 58 In the context of Mughal administration, who were referred to as Shaikhzadas or Hindustanis?

et wmee & de # R diaerret ot figart et Srar wn?
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Central Asian nobles of Turkic origin serving the Mughals

et Y Far A aTet g g F A GIATE Fel

ajput converts elevated to noble ranks for loyal
HgH g U

Persian-trained officers recruited from Safavid Iran

Orhdte a4 T Wl fhy g wd-nifea afdest

Indigenous Muslims who held administrative posts under Mughal rule

HITeT QTTEH o IR WA Ua | UR AT Ig Fetiard! HHedH

Q.No: 59 Which of the following bodies has the power to create new All-India Services common to both the Union and the States?

Frfoiaa & 9 forg Fom &t 99 oft Iea! g1 & folg 9= 75 1@ d YR Y44 o+ &l afa 82

The President of India by issuing an executive order.

R & TEUF 7 Geh HrhRT HTesT SR e gg fHufa feran 21

The Union Cabinet by a simple majority.

Farg HEHEE G QIR dgHd & uiia faar ma

The Prime Minister with the consent of all Chief Ministers.

UHTHERT G Gl 6 ggafd 4

The Parliament, provided the Rajya Sabha passes a resolution by a special majority.

S, 921 o 7oy g fa2iy IgAd @ wEarE uiRd |

Q.No: 60 Arrange the following RBI Governors in the correct chronological order of their tenure (from earliest to latest):
1. Dr. Y. V. Reddy
2. Dr. D. Subbarao
3. Dr. Urjit R. Patel
4. Shri Sanjay Malhotra

Pt smRetang ekl i 377k hideRTel o Ho! Shieeiteh e J eaaiedd & (WRYe ¥ AifdH ae):

1. 80T .
2. 31 3. gErE
3. 2. 3o IR, uea
4. =it " AegiET
1,3,2,4
1,3,2,4
2,3,1,4
2,314

1.2,3,4
1.2,3,4

Q.No: 61 Which is the largest island of India in terms of area?

&Fhe FI gfF | WA o T4 F2T 10 -1 82

Rameswaram

T

Sriharikota

HigRenter

Majuli

ATt g

Q.No: 62  Where was the National Shooting Championship 2024 held?
A FamaTstt SfmafT 2024 Fef ot v e?
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Bhubaneswar, Odisha

waegr, Sifsan

umbal, Maharashtra

Panaji, Goa

qurs, e
Bhopal, Madhya Pradesh

IgTe], Ae W& 2T

Q.No: 63 Which of the following is correctly matched with their leadership role in the Constituent Assembly (During the making of the Indian
constitution)?

Frefert@a # @ & dfaum g (MR d@idum & Faion & gm) & e Aqaanit it 9 @8t gafaa g2

V. Mavalankar - Chairman of the Committee on the Functions of the Constituent Assembly|

Dr. B.R. Ambedkar - Head of the Committee on the Functions of the Assembly

31, 1o, ardea - oy & et gt afafa & ogg

M. Gopalaswami Ayyangar - Chairman of the Order of Business Committee
T, MUTAETHT ST — T8¢ 3T fEei-g AT & arede
K.M. Munshi = Leader of the Committee on Fundamental Rights

%.q0. Haft - e wfferd w afafa & Jan

Q.No: 64  Which of the following correctly pairs a monument with its architectural style?
Feffed 3 9 &i9-51 WRe Ud 396! argLie &l g 9gl 67

Khajuraho Temples - French

@Il HidR - Wit e

utub Minar = Indo-Islami

- YRd-
India Gate - Rajput
3fEan iz - Tergg At
Lotus Temple = Mughal

dted Sre - giret el

Q.No: 65  How did Second Generation Reforms impact foreign investment in India?

fafta bt & Qo &1 vea & vt g aft Fer (Fol) o= =1 wvma ger?
It reduced foreign investment

a4 fogaft Fe & e ang

It had no impact on foreign investment

faeaft fFaer i i warg =8 usr

It restricted foreign companies from entering India

faaft Sufal & wra o neer oe ufasy

t increased foreign investment by iImproving the investment climat

21 ATATE0T H G e [d42 I <kl STardl
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Q.No: 66  Match the Following

Column A - Literary Work Column B - Type

A. Naukar Ki Kameez i. Poetry cellection
B. Lagbhag Jai Hind ii. Novel
C. Peed Par Kamra iii. Short story collection

D. Woh Aadmi Chala Gaya iv. Poem
Fre=efaaa = e

| =T A - TTfgfdes +f | WY B - R

A, Tt BT et i. ehfdar 4ug
B. @Y o fig i, IT=T
C. Mg RFAT iii. &1 gl dUg

D. 9T aMTEHT =er mar iv. ShfeT
A-iii, B-ii, C-i, D-iv
A-iii, B-ii, C-i, D-iv
A-ii, B-i, C-iii, D-iv
A-ii, B-i, C-iii, D-iv
. =i, B-ii, C-iv, D-iii
. A=, B-ii, C-iv, D-iii
A-ii, B-iii, C-i, D-iv
A-ii, B-iii, C-i, D-iv

Q.No: 67  What is the radius of the centre circle in a football field?

e reater e i etter g Y v 82
55m

5.5 ftex
10.5m

10.5 Hiex
11 m

11 Hex
9.15m

9.15 #iex

Q.No: 68 Accerding to the Constitution of India, what is the quorum required te constitute a meeting of either House of Parliament?

WRAT G & SIAR, 98¢ o fohell Y HeA i 96 o oy srrasae e @1 g7

One-third of the total number of members of the House.

G & Pl Gl hl W A U g
Fifty members in the Lok Sabha and twenty-five members in the Rajya Sabha.

e 9T & U9 92w 3R ey 9T § u=fig 95|
one-tenth of the total number of members of the House.

e o ol TS! el TEAT o a1 [T
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Hel TRHT ohl Ueh-

Q.No: 69  ‘Which Indian Union Territory has the most Scheduled Castes?

ferr Tl Shg e wear # agfRd Siiaal §ad Smel g7
Delhi

fewelt
Chandigarh
ig E_
Ladakh
HEES

Q.No: 70 Which of the following best describes the main objective of the Indo-French Megha-Tropiques satellite mission?

fFe=fafed 4 @ FF a1 Sy vRa-wiEE dur-giite Juig MU & 9 383 &l 9G93 of<a 9uiH dl g7

nderstanding convective systems and the water cycle in tropical region

ERG SEECED
Studying polar ice melt and its impact on global sea levels

YT gt & fUraer afiR S &1 TR U 39 UHTd &l g

Mapping mineral resources in the Himalayan region

et &3 & @fs 99re! & aEfEEn

Monitoring ozone depletion over the equator

WHe 3T WY el & & AR

Q.No: 71 The “Golden Boot” is awarded in which sport?

Tiea- ¢ QRER ol @t # WeH o wrar 82

Cricket
fehehe

Baseball
ECEIG
Hockey
GIED

Football
RG]

Q.No: 72 The regulatory framework adopted by India between 1947 and 1990, often referred to as the “License Raj," aimed to direct economic
activity. While it had certain intended benefits, what was a significant unintended negative consequence often associated with this
system?

1947 3R 1990 & fi= wrd gR1 Av=TY U RAfAames o &t R "aEdy a9 & w0 ¥ defifq famn o @, o sgsg anfifes
nfafafy =t FAEfRa w1 oM gl 59 $o sieod o1y 9, dfhT 50 ToTTel & TR 31 Ua Ao yul SFufard FahRIeTa aRums =1
ar?

he creation of barriers to entry for new businesses potentially stifling innovation and leading to inefficiencies.

9T H 1YY 347 TR H G141 IUF TYT AHATAITY
A significant reduction in corruption and bureaucratic delays in obtaining necessary approvals for economic activities.

anifefes AT o forg Wt SrgAle Wi e J YETER 3R it & # Ieoia-g ol

A rapid increase in the guality and global competitiveness of Indian-made goods due to stringent quality control measures.
s TUTET FRIF0T JUTAT & SRIRUT YR FfHa axgai o quiasn ok afde ufderatarear § dit @ giE)
The fostering of a highly competitive market environment with numerous players in each industry.

Tcleh 3T aeh Eenfaal & a1y erafdes wicageff STei araraworn = SgET ATl
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Q.No: 73 Given below are the two columns. Column A consists of Events or terms and column B consist of correct descriptions. Match the
column A with correct description in Column B

Column A Column B

A. Anglo-Russian rivalry 1. Opened Sindh's rivers and roads to British trade.

B. Subsidiary Treaty 1839 | 2. Forced on the Amirs of Sindh before annexation.

C. Sir Charles Napier 3.Had commercial value; attracted British interest.
D. River Sindh 4.Led military campaign to annex Sindh; called it a “rascality.”
E. Treaty of 1832 5. Led Britain to expand influence in Afghanistan and Persia
i 2t e faw 77 1 e A § 9A1¢ a1 2 § JfR Sied B # 9T [AaRur §1 e A &1 e &iem B | R e ot o &
G
YA WY B

A Uil wfagfzar 1. Mg &t Afeat ofi agent o fafeer =R & oy it e
B, Og@a O 1839 | 2. oera 9 uget g & opfiRY R ot mam
C. TR =Ty Aftaw 3.3 TIfiifode: Agw uT; 39+ fafer s =i anesfia famam)

D. [y =+ 4.7y 1 R anfi A & g S iftra =1 A9 foman; 59 "gEar” Fenl

E. 1832 1 dfy 5. o =t eremfAeaTs afit e & S T Sem | #eg i

-5, B-
A-1,B-5,C-2, D-4, E-3
A-1,B-5,C-2, D-4, E-3
A-2, B-4, C-3, D-1, E-5

A-2, B-4, C-3, D-1, E-5
A-4,B-1,C-5,D-2, E-3
A-4,B-1, C-5,D-2, E-3

Q.No: 74 Which classical dance form originated in Andhra Pradesh and incorporates both singing and dancing?

hi--HT ATEY 7[cd 318 W32 H IU= goTl § S 394 A QF [ 31 |isferd gid 2
Manipuri
wforgd
Kathakali
FYHAT
Mohiniyattam

Hifg-targa
Kuchipud]

FIRREL

Q.No: 75  Ganesh Chaturthi, celebrated widely in Maharashtra, is associated with:

moter T, i ey w0 @ Agrig A @msd ®u g 5418 ardl g, e 991 g7

The descent of Ganga

7T @1 et U S7aaruy
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The marriage of Shiva and Parvati

W 3 3R Ut o1 femg

The return of Krishna to Mathura

O] T HYIT AleAT

Q.No: 76  The PM-MITRA scheme is focused on which of the following objectives?
dhr-fa gt fefefEa 7 @ g st mSa g

Expanding petroleum retail chains
Ugiferad e sfaeail s fawar

nhancing textile exports and setting up large textile park

EECHE a BITAT
Creating rail-based infrastructure hubs
IeT- AT ATl B dhg S

Providing smart classrooms in rural schools

UTHIUT Thed! § FHIE Had JUeTed T

Q.No: 77 What is one of the major benefits of providing Geographical Indication (Gl) tags to local products made by rural artisans?
Rt SERT ZRT 91T Y R IATE! i Hiiferes Hohd (Sang) 37 W& et 1 Yeh W o1 &1 87

It increases dependency on imported goods

FY HETfdd aeget R i 9 9t g

t helps preserve traditional knowledge and boosts rural income

GGt ] AT Hag
It removes the need for skill development in rural areas

T4 urHtur g5t § wtere R & afasgehar 9End 8 ST &

It allows unrestricted copying of the product by other regions

TG T &1 g1 ScTe ol emfadfaa ufafafd == &t ergrfa &1 g

Q.No: 78  Which country withdrew from the NPT in 2003 and later developed nuclear weapons?

i A1 &2 2003 # gAdid & g man oIk |1g A uwAy gfYgR e e foar?
Israel
ENUES]
Iorth Kores
S IR
Syria

gifan

Iran

ERiE]

Q.No: 79 Name the organization that made the Golden Quadrilateral Project connecting major cities of India feasible?

WRd oh W@ ATRI & AU & Site arell '@ I URAe=1' &l AN ai aTell TeIT &l A1 &1 g7

Indian Railways

WA ¥

Ministry of Urban Development

U [ H#aTeg
Border Roads Organization (BRO)

a7 93 4o (S1ermal)
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Q.No: 80 | In the following questions, a statement of Assertion (A) is followed by a statement of Reason (R).
Select the correct option from the following:
Assertion (A): Rows of circular brick platforms at Harappa were used for religious ceremonies.
Reason (R): These platforms were found to contain wheat and barley grains.

FPafafEa ast 7, sfeny= (A) & Fy9= & 915 SR (R) &1 Sy g mar @)
Frafefaa 7 9 af feeea g
A Hery= (A): ST & MdAThR Scl & Agad el Ufaral a1 IughT enfifes aARig! & ferg fovar smar )
FHROT (R): 37 IRl R TG 3R ST & & urg g &

Both A and R are false

AR R s 8

Both A and R are true, and R explains A

A SRR ST G §, dUTR, A @i HANEAT Hedl
oth A and R are true, but R does not explain

R HA B, R, A T hidl
A is false, but R is true

ANETE, AfGTRIT &

Q.No: 81 The Alaknanda River originates from which of the following?

3eAehriel el & 3gH ©d FEffET § § sH-a g?
Satopanth Glacier
AUy f@aAg
Zemu Glacier

o fgee

Milam Glacier

e fgmme
a

UHIENRECE

Q.No: 82  Which pair is correctly matched with India's geopolitical interest?
T AT G AR o -TaHifaeh fod 9 9@t &7 9 3 @rar g7

shgabat Agreement - Partnership with BIMSTE

UICIG) = HY
Kaladan Project = Links to Iran
AT TaTerT - 549 4 foier
Ladakh Corridor — Access to Africa
&R HIRSR - AThIHT T Ugd

SAGAR Policy - Maritime ties in the Indian Ocean

AR A - [Ee AR § 9! 99y

Q.No: 83  Which of the following is NOT a direct outcome of using the Happiness Index?

fr=faf@a § 4 -1 gudfi=g 39 & Juai o1 uaer ufons =g g7

onitorin opulation growt

Creating education policies
fRrar ifaat s
Improving healthcare services

@ daraff § gur

Enhancing social services

grHTfIe STl ol Yediengur
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Q.No: 84 What significant institutional development emerged from banking reforms after 1991 to regulate financial stability?

fa=itg fERar & [AFaiad e & @Y 1991 & 98 S Ut @ o4 91 Ayl @emTe fEewm 9= s
Board for Financial Supervision (BFS)
feita weiderr S8 (BFS)
NABARD
qEs
Securities Appellate Tribunal (SAT)
wfaeifa erdieitg =omarfaeeo (SAT)
MSME Credit Bureau
QHGHHE hiSe St

Q.No: 85 Match the following Indexes with their respective Publishing Organizations:

Column A - Index Column B - Publishing Organization

A. Global Innovation Index 1. United Mations Development Programme (UNDP)
B. Global Hunger Index 2. world Intellectual Property Organization (WiPO)
C. Global Peace Index 3. Concern Worldwide and Welthungerhilfe

D. Human Development Index (HDI) | 4. Institute for Economics and Peace (IEP)

Freafel@a et @ 9 gafda g Sl 8 fam &2

Y A - GUHih THY B - HeRI WS
A. 3 IR gaHia 1. Tgaa g faam wdeRm (UNDP)
B. 3% @ qa&is 2. Ty Siifge uer €@a (wiPo)

c. e vifa gEaE 3. FE desd15S AR degTRigeth

D. # f4a gehias (HDI) | 4. ariame iR 2nifd T (1ER)
A-3,B-2, C-1,D-4
A-3,B-2, C-1, D4
A-4, B-2, C-3, D-1
A-4, B-2, C-3, D-1
A-2,B-1, C-3, D4
A-2,B-1,C-3, D04

A-2, B-3, C-4, D-1

Q.No: 86  What is the role of National Parks under the Wildlife Protection Act, 19727
gTaita TRaToT AfafE, 1972 & sfarfa Tgig Sem! A offew w7 87

To promote tourism

e & 9gmaT &4 & foig
o protect wildlife and their habitat:

oq ST 21 &M
To regulate trade

R i FHOET & & g
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To oversee elections

FrE! Y AR 8

Q.No: 87  Which of the following is a unique characteristic of sponges (Phylum Porifera)?

F=fafed 4 4 $iF we (wEem diitha) & g orgd) fasdivar &2

ater canal system and choanocyte

Radial symmetry and presence of tentacles

feae gean ok wafa! & suffa
Jointed appendages and chitinous exoskeleton
Presence of cnidoblasts for defense

281 & forg gty i suf@fa

Q.No: 88 Who was invited as the chief guest for India’s 76th Republic Day celebrations on January 26, 20257
26 e, 2025 @l YR & 764 TT0dA fad GERIE & fog g Afafd & v F fond arfEa e man g2

Joko Widodo

Sitent faStst

Ferdinand Marcos Jr.
GigHs Araig ST,

Anwar lbrahim

3R geTieA

Q.No: 89  The Industrial Policy Resolution of 1948 aimed at:
1948 & 3ftefes -ifa weara @1 32T o

rivatizing industrie

Developing rural areas

TrHtor &= @ o

Opening up foreign trade

faaft =R =t giern

Promoting public sector

Arfalich &7 &l Fg1ar &1

Q.No: 90 Two resistors named R1 and R2, are connected in parallel. If R1 < R2, what can be inferred about the current flowing through them,
given the same potential difference across both?

R1 3R R2 AT 3 Ufaes IRfaR 70 & 2 gU E1 fS R1 < R2 &, 9Y a1 & offa 99 favaiar 811 W=, 3 manfed orT & ar & a1
ATA T S Fehll 87

current through R1 is less than through R2.

R1 & yargd 9rT, R2 I uaTigd 9 & &H &)

current through R1 is equal to current through R2.

R1 & HaTEd 4R, R2 I Wanigd YR & I3 gl

current through R1 is greater than through R2.

R1 ¥ vaifgd umT, 2 T wafgd g o afdes 81

The current ratio depends on the supply voltage.
YRT SUTE ST dees 0X R Fear 2
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Q.No: 91 What was the objective of the Swachh Bharat Abhiyan?

oo YR AN &7 I52d o1 917
Achieving universal sanitation coverage

EYIHE oo o] U] Sel
Promoting digital payments
FEforee o &t JgmEn &1

Providing rural housing

TTHTOT ST I0eres] ThaEl
Creating jobs in the rural sector

artor g F AR e

Q.No: 92 Who among the following is related to the Parakram Diwas?

Frfeida # @ 1 wreA feaw @ gefda 3?2

Azad

TSl

Mahatma Gandhi
T Mgt
Bhagat Singh
i g

Q.No: 93 If "a soldier fires on a mob by the order of his superior officer, in conformity with the law". According to the Bharatiya Nyaya Sanhita,
2023, has he committed an offence?

gfg "wlE e e 9ty ARl & Sider R, A & HEu, HiZ U Tl Ielldl g df HRdIE =g digdr, 2023 & 4R, &1 35
his ARy fohan g7

Yes, because he could have disobeyed

i, Fifeh g IaaT e Wahal U7
Yes, because violence is punishable

0, because he followed public order

B hl Tci—
Mo, because he believed in good faith that he was bound by law

T8, ik 98 TgreTydes AT AT ok 98 S A dur gan g

Q.No: 94 High honey yield and gentle behaviour in bees for commercial beekeeping can be achieved through one of the following methods:

TadTEh AYHEE! UTeH o oy 3= 21ge JdTeA SR Aynfrgal # @ egagr Fefordd fafdat 3 & et ves o Arem @ urd e o
Hehdl g

Using wild bee species with aggressive defence traits

SITRTAS &7 T[0T aTelt STt TeHeRd! Tatfad! 2 JTanT e

Freguently relocating hives to prevent bees from settling

TeAfeRag] &l 99+ § e & oiw o4 &l IR-aR [Eaid &

Avoiding bee farms and relying solely on natural honey collection

Te[HeRd! T § S94T 3T dhaol UTehfdeh Age 608 IR H¥R T80

ntroducing Italian bees that collect more honey and remain in hives longe

2 UGS Ul el TAY dch

Q.No: 95  Who headed the Credentials Committee in the Constituent Assembly?
dfar a1 & th3f¥raew Afafa & A foea i ar?

Alladi Krishnaswamy Aiyar

TS FEORATHT 3
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T.T. Krishnamachari

.8 FwmER

Jawaharlal Nehru

ECIREGIGERS
K.M. Munshi

. qH. gaft

Q.No: 96  Which of the following is a prominent form of Hindustani classical vocal music?
T ameita TR Y e el § @ g w-dt 22

Kathak

¥

D Dad

ERE!

Bharatnatyam

HIIATSH
Kuchipudi

ElREsl

Q.No: 97  Which of the following is NOT a primary factor affecting the variation of insolation on Earth?

Rotation of the Earth on its axis

ged] 1 AT o o= gEAT

Transparency of the atmosphere

TATER0T <l UTEEfatar

Angle of inclination of the Sun’s rays

g <t foReuT 1 FerTd ahiom

Q.No: 98  Accerding to Keynesian theory, during recession, what should the government ideally do?

FiFaT= fgid & AR, A1 & SR IR &l A1eel &9 I &1 AT A1iey?

Increase interest rates

=TS &L J51Y

ncrease spending and cut faxe
EEY

Promote imports

T Rl SgTaT 2T
Reduce spending

o He

Q.No: 99  SpaDeX mission is related to

ey faE g "a&ifda g1
Artificial intelligence
i gifmrt
Space docking
afafier sifehm
Space farming
Siafeer gt
Planetary geclogy

PREREEIS)
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Q.No: 100  Which of the following systems can be affected by a solar storm?
1. GPS signal accuracy
2. Power transmission systems
3. Submarine communication cables
4. Pipeline infrastructure

Ffafed 7 9 w9 €@ worefl @R qrE & uHifed g aadi g7
1. sidieg e aéear
2. ureR grEiheE s
3. Tgsd HOR e
4. UTSUATS HEETEAT
2 and 3 only

had 2 afie 3

and Z only

[chde] ] AR 2
3 and 4 only

thad 3 aflR 4
1,2,3, and 4 all of these

1,2,3, 3T 4 & T+l

PART - C (English Language and Comprehension)

Q.No: 101  Find the antonym of ‘Impute’.

Energetic

Cheerful

Lively

Q.No: 102 Read the following passage and answer the questions based on the passage:
Universal immunization campaigns have eradicated or controlled fatal conditions such as smallpox and polio. Mass immunization
relies on cold-chain availability: vaccines have to be stored at precise temperatures from manufacturing through inoculation.
Solar-powered refrigerators and insulated containers are lifelines for remote locations. Door-to-door interactions by community health
waorkers educate households regarding dosage routines and myths. Vaccine hesitancy fueled by misinformation is also a major
obstacle to herd immunity. Campaigns of public education—capitalizing on radio, social media, and school initiatives—seek to revive
public faith in science. Preserving accessibility and communication in an open nature is crucial in order to secure public health.

What does “cold-chain logistics” refer to in the passage?

ransporting vaccines under controlled temperature

Selling vaccines in cold climates
Developing new vaccine formulas

Distributing medicines door-to-door

Q.No: 103 Read the following passage and answer the questions based on the passage:
Universal immunization campaigns have eradicated or controlled fatal conditions such as smallpox and polio. Mass immunization
relies on cold-chain availability: vaccines have to be stored at precise temperatures from manufacturing through inoculation.
Solar-powered refrigerators and insulated containers are lifelines for remote locations. Door-to-door interactions by community health
waorkers educate households regarding dosage routines and myths. Vaccine hesitancy fueled by misinformation is also a major
obstacle to herd immunity. Campaigns of public education—capitalizing on radio, social media, and schoal initiatives—seek to revive
public faith in science. Preserving accessibility and communication in an open nature is crucial in order to secure public health.

According to the passage, which method helps maintain vaccine potency in remote areas?
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Air-conditioned cars

olar-powered refrigerator:

Vaccine-heated containers

Underground storage

Q.No: 104 Read the following passage and answer the questions based on the passage:
Universal immunization campaigns have eradicated or controlled fatal conditions such as smallpox and polio. Mass immunization
relies on cold-chain availability: vaccines have to be stored at precise temperatures from manufacturing through inoculation.
Solar-powered refrigerators and insulated containers are lifelines for remote locations. Door-to-door interactions by community health
waorkers educate households regarding dosage routines and myths. Vaccine hesitancy fueled by misinformation is also a major
obstacle to herd immunity. Campaigns of public education—capitalizing on radio, social media, and schoal initiatives—seek to revive
public faith in science. Preserving accessibility and communication in an open nature is crucial in order to secure public health.

Vaccine hesitancy is primarily caused by:

Lack of refrigerators

Cold-chain failures’

Overproduction

Q.No: 105 Read the following passage and answer the questions based on the passage:
Universal immunization campaigns have eradicated or controlled fatal conditions such as smallpox and polio. Mass immunization
relies on cold-chain availability: vaccines have to be stored at precise temperatures from manufacturing through inoculation.
Solar-powered refrigerators and insulated containers are lifelines for remote locations. Door-to-door interactions by community health
workers educate households regarding dosage routines and myths. Vaccine hesitancy fueled by misinformation is also a major
obstacle to herd immunity. Campaigns of public education—capitalizing on radio, social media, and school initiatives—seek to revive
public faith in science. Preserving accessibility and communication in an open nature is crucial in order to secure public health.

Which strategy is NOT mentioned as part of public-education initiatives?

Radio broadcasts
Social-media influencers

School programs

Q.No: 106 Read the following passage and answer the questions based on the passage:
Universal immunization campaigns have eradicated or controlled fatal conditions such as smallpox and polio. Mass immunization
relies on cold-chain availability: vaccines have to be stored at precise temperatures from manufacturing through inoculation.
Solar-powered refrigerators and insulated containers are lifelines for remote locations. Door-to-door interactions by community health
waorkers educate households regarding dosage routines and myths. Vaccine hesitancy fueled by misinformation is also a major
obstacle to herd immunity. Campaigns of public education—capitalizing on radio, social media, and school initiatives—seek to revive
public faith in science. Preserving accessibility and communication in an open nature is crucial in order to secure public health.

The passage suggests that to protect public health, it is essential to:

Eliminate door-to-door visits

Halt solar-powered technology

nsure equitable access and clear communicatio

Focus solely on urban areas
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Q.No: 107 Read the following passage and answer the questions based on the passage:
Microfinance institutions (MFIs) have become crucial agents for advancing financial inclusion in rural areas. Through extending small
loans and savings accounts to people who don't have access to conventional banks, MFIs empower entrepreneurs—most often
women—to initiate or scale up microenterprises. In most villages, these loans support poultry farming, handloom weaving, or tiny
retailing outlets. MFis go beyond credit by regularly offering financial education training, teaching borrowers to cope with cash flows
and interest charges. Critics warn, however, that excessive interest rates and repayment pressure can result in over-indebtedness. To
avoid such risks, some MFls limit interest rates and spread repayment terms. Research indicates that when complemented by market
linkages—such as guaranteed buyers for fruits and vegetables—microfinance can trigger sustainable economic growth and poverty
reduction.

The primary function of microfinance institutions, according to the passage, is to:
Charge high interest rates to rural borrowers

Provide large corporate loans

er financial services to those excluded from traditional banking system

Regulate national monetary policy

Q.No: 108 Read the following passage and answer the questions based on the passage:
Microfinance institutions (MFIs) have become crucial agents for advancing financial inclusion in rural areas. Through extending small
loans and savings accounts to people who don't have access to conventional banks, MFIs empower entrepreneurs—most often
women—to initiate or scale up microenterprises. In most villages, these loans support poultry farming, handloom weaving, or tiny
retailing outlets. MFis go beyond credit by regularly offering financial education training, teaching borrowers to cope with cash flows
and interest charges. Critics warn, however, that excessive interest rates and repayment pressure can result in over-indebtedness. To
avoid such risks, some MFls limit interest rates and spread repayment terms. Research indicates that when complemented by market
linkages—such as guaranteed buyers for fruits and vegetables—microfinance can trigger sustainable economic growth and poverty
reduction.

In the context of the above passage, “microenterprises” most nearly means:

Multinational corporations

Government agencies

Family-owned farms

Q.No: 109 Read the following passage and answer the questions based on the passage:
Microfinance institutions (MFis) have become crucial agents for advancing financial inclusion in rural areas. Through extending small
loans and savings accounts to people who don't have access to conventional banks, MFls empower entrepreneurs—most often
women—to initiate or scale up microenterprises. In most villages, these loans support poultry farming, handloom weaving, or tiny
retailing outlets. MFis go beyond credit by regularly offering financial education training, teaching borrowers to cope with cash flows
and interest charges. Critics warn, however, that excessive interest rates and repayment pressure can result in over-indebtedness. To
avoid such risks, some MFls limit interest rates and spread repayment terms. Research indicates that when complemented by market
linkages—such as guaranteed buyers for fruits and vegetables—microfinance can trigger sustainable economic growth and poverty
reduction.

Which benefit of MFis is mentioned besides lending money?

Granting land titles

inancial literacy trainin

Tax exemptions

Import-export facilitation
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Q.No: 110 Read the following passage and answer the questions based on the passage:
Microfinance institutions (MFIs) have become crucial agents for advancing financial inclusion in rural areas. Through extending small
loans and savings accounts to people who don't have access to conventional banks, MFIs empower entrepreneurs—most often
women—to initiate or scale up microenterprises. In most villages, these loans support poultry farming, handloom weaving, or tiny
retailing outlets. MFis go beyond credit by regularly offering financial education training, teaching borrowers to cope with cash flows
and interest charges. Critics warn, however, that excessive interest rates and repayment pressure can result in over-indebtedness. To
avoid such risks, some MFls limit interest rates and spread repayment terms. Research indicates that when complemented by market
linkages—such as guaranteed buyers for fruits and vegetables—microfinance can trigger sustainable economic growth and poverty
reduction.

What is a key criticism of microfinance highlighted in the passage?

It fails to reach women borrowers.

It offers only savings accounts.

igh Interest and repayment pressure can cause debt

It mandates market linkages.

Q.No: 111 Read the following passage and answer the questions based on the passage:
Microfinance institutions (MFls) have become crucial agents for advancing financial inclusion in rural areas. Through extending small
loans and savings accounts to people who don't have access to conventional banks, MFls empower entrepreneurs—most often
women—to initiate or scale up microenterprises. In most villages, these loans support poultry farming, handloom weaving, or tiny
retailing outlets. MFis go beyond credit by regularly offering financial education training, teaching borrowers to cope with cash flows
and interest charges. Critics warn, however, that excessive interest rates and repayment pressure can result in over-indebtedness. To
avoid such risks, some MFIs limit interest rates and spread repayment terms. Research indicates that when complemented by market
linkages—such as guaranteed buyers for fruits and vegetables—microfinance can trigger sustainable economic growth and poverty
reduction.

According to the author, sustainable impact occurs when microfinance is combined with:

High interest rates

arket linkage

Shorter loan tenures

Government bailouts

Q.No: 112 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For many young professionals, choosing a career is no longer just about earning a salary—it's about finding meaning in what they
do. Some are drawn te high-paying jobs, while others feel more (1) working in fields that align with their personal values.
This growing divide between passion and paycheck has led to tough decisions for many. While financial stability is important, ignering
one's true interests can lead to long-term (2) Experts suggest that a balanced approach is possible. One can pursue a stable
job and still nurture their passions through part-time work, volunteering, or creative outlets. However, such a path requires careful
(3) Making impulsive career shifts without planning can lead to regret. It's important to evaluate not just income, but also
growth, purpose, and job (4) After all, the goal is not just to survive—but to build a life that is both secure and (5)

(1)

challenged

proud

fulfilled
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Q.No: 113 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For many young professionals, choosing a career is no longer just about earning a salary—it's about finding meaning in what they
do. Some are drawn to high-paying jobs, while others feel more (1) working in fields that align with their personal values.
This growing divide between passion and paycheck has led to tough decisions for many. While financial stability is important, ignoring
one's true interests can lead to long-term (2) Experts suggest that a balanced approach is possible. One can pursue a stable
job and still nurture their passions through part-time work, volunteering, or creative outlets. However, such a path requires careful
(3) Making impulsive career shifts without planning can lead to regret. It's important to evaluate not just income, but also
growth, purpose, and job (4) After all, the goal is not just to survive—but to build a life that is both secure and (5)

(2)
success
burnout
freedom

boredor]

Q.No: 114 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For many young professionals, choosing a career is no longer just about earning a salary—it's about finding meaning in what they
do. Some are drawn to high-paying jobs, while others feel more (1) working in fields that align with their personal values.
This growing divide between passion and paycheck has led to tough decisions for many. While financial stability is important, ignoring
one's true interests can lead to long-term (2) Experts suggest that a balanced approach is possible. One can pursue a stable
job and still nurture their passions through part-time work, volunteering, or creative outlets. However, such a path requires careful
(3) Making impulsive career shifts without planning can lead to regret. It's important to evaluate not just income, but also
growth, purpose, and job (4) After all, the goal is not just to survive—but to build a life that is both secure and (5)

(3)

luck

hesitation
blanning

risk

Q.No: 115 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For many young professionals, choosing a career is no longer just about earning a salary—it's about finding meaning in what they
do. Some are drawn to high-paying jobs, while others feel maore (1) working in fields that align with their personal values.
This growing divide between passion and paycheck has led to tough decisions for many. While financial stability is important, ignoring
one's true interests can lead to long-term (2) Experts suggest that a balanced approach is possible. One can pursue a stable
job and still nurture their passions through part-time work, volunteering, or creative outlets. However, such a path requires careful

(3)__ Making impulsive career shifts without planning can lead to regret. It's important to evaluate not just income, but also
growth, purpose, and job (4)___ After all, the goal is not just to survive—but to build a life that is both secure and (5)
(4)

comfort

loyalty

stability

attitude
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Q.No: 116 In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
For many young professionals, choosing a career is no longer just about earning a salary—it's about finding meaning in what they
do. Some are drawn to high-paying jobs, while others feel more (1) working in fields that align with their personal values.
This growing divide between passion and paycheck has led to tough decisions for many. While financial stability is important, ignoring
one's true interests can lead to long-term (2) Experts suggest that a balanced approach is possible. One can pursue a stable
job and still nurture their passions through part-time work, volunteering, or creative outlets. However, such a path requires careful
(3) Making impulsive career shifts without planning can lead to regret. It's important to evaluate not just income, but also
growth, purpose, and job (4) After all, the goal is not just to survive—but to build a life that is both secure and (5)

(5)
wealthy
creative
Fewarding

routine

Q.No: 117 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The Earth’s climate has changed over centuries. P: But current warming is caused by human actions. Q: Historically, it changed due to
natural causes. R: Burning fossil fuels increases greenhouse gases. 5: Deforestation worsens the problem. 6. This calls for urgent
action.

QPSR
SQRP

PRSQ

Q.No: 118  Identify the part containing a grammatical or structural error:
Neither Ramesh nor his friends is willing to join.

s willing to joi
Mo error
nor his friends

Meither Ramesh

Q.No: 119  Select the correct passive form of the given sentence.
"They serve food to the guests.”

ood Is served to the guests by them

Food was served to the guests.
Food is being served by them.

Food has served by them.

Q.No: 120  Choose the antonym of ‘meticulous’:
Megligent
Thorough

Precise
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Careful

Q.No: 121 Choose the correct direct speech form of the following sentence.

The interviewer asked me if | could drive a car.

The interviewer said, "Will you drive a car?"

he interviewer said, " Can you drive a car?

The interviewer said, "You can drive a car.”

The interviewer said, "Shall | drive a car?"

Q.No: 122 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Exercise keeps the body fit and active. P: It also boosts mental health. Q: Regular workouts reduce stress levels. R: Walking, cycling,
and yoga are easy options. S: Physical activity strengthens the heart and muscles. 6. So, exercise should be part of our routine.

QRSP
SQPR

PRQS

Q.No: 123 Choose the antonym of ‘imitate”:
Replicate

Copy

Echo

Q.No: 124  Select the synonym of Deteriorate.

Grow

\/orse

Revive

Improve

Q.No: 125  Select the synonym of Abstruse.

Difficult

Obvious
Simple

Clear

Q.No: 126  Find the misspelt word.

influential
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Magnanimous

Aagnanimosy

intelligent

Q.No: 127  Find the incorrect part of the sentence:
He could not cope up with the pressure.

cope up with
the pressure

No error

He could potl

Q.No: 128 Choose the option that completes the sentence using the correct spelling.

After 35 years of service, Mr. Das finally retired and began receiving his benefits every month.
superanution
superanuation

kuperannuatio

superanualtion

Q.No: 129  Select the correct synonym for *Abate’.
Moderate
Increase

Evwil

Q.No: 130  Select the option that expresses the given sentence in Direct Speech,
She said that she could have passed the exam.

She said, "I would have passed the exam."

he said, "I could have passed the exam.
She said, "I might have passed the exam."

She said, "l should have passed the exam."

Q.No: 131 Select the most appropriate homonym.
He was charged with theft.

Energized

Filled

Ordered
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Q.No: 132 Select the most appropriate option to fill in the blank.
She adhered strictly the code of conduct.

for
DY)
10

at

Q.No: 133  Select the most appropriate option to improve the bold part of the sentence.
He is a honest man.

the honest
one honest

honest

Q.No: 134  What is the one word for “A person who is talkative”?
Introvert
Garrulous

Reticent

Q.No: 135  Select the correct passive form of the given sentence.
"They can be delivering the goods tomorrow."

he goods can be being delivered tomorrow

The goods shall be delivering tomorrow.
The goods can deliver tomorrow.

The goods can be delivered tomorrow.

Q.No: 136  Select the correct active form.
"A decision will have been taken by the committee.'

The committee will take a decision.

The committee took a decision.

The committee has taken a decision.

Q.No: 137  Select the most appropriate option to improve the bold part of the sentence.
He came here with a view to meet his old friend.

to meet with
for meeting

in view to meet

ith a view to meetin
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Q.No: 138  Select the most appropriate option to improve the bold part of the sentence.
The manager discussed on the issue in detail.

discussed the issue

explained the issue

talked over the issue

Q.No: 139  Rearrange the parts of this sentence:
(A) their demands (B) the workers (C) went on strike (D) after the management rejected

DBAC
DACB
BDAC

BACD

Q.No: 140 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Riya enjoys learning different languages. P: She attends French classes. Q: Her Spanish is improving. R: She knows some German. S:
She uses an app to practice daily. 6. She wants to be a polyglot.

RUSH
QRSP
QPRS

RPQS

Q.No: 141  Select the correct passive form of the given sentence.
"The doctor prescribed the medicine."

The medicine is prescribed.
The medicine has been prescribed.

The medicine had been prescribing.

he medicine was prescribed by the doctor

Q.No: 142 | Choose the correct option to complete the sentence.

The volunteers will the neighbourhood to gather support for the new policy.
canvas
canopies

ENVERR

cannabis

Q.No: 143  Select the most appropriate option to fill in the blank.
We prefer tea coffee.
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for

on

with

Q.No: 144  Select the most appropriate option to fill in the blank.
My house is ___ the bank and the post office.

among
across

beside

Q.No: 145  Choose the word that is not spelled correctly.
Exagerate

Leisure

Maintenance

Q.No: 146  Select the most appropriate option to improve the bold part of the sentence.
Each of the students have a book.

had

gets

is having

Q.No: 147  Choose the correct direct speech form of the following sentence.
Robinson said that he would be planting trees along the bank of the river.
Robinson said, "I am planting trees along the bank of the river."

Robinson said, "I shall plant trees along the bank of the river."

obinson said, "1 shall be planting trees along the bank of the river.

Robinson said, "I shall have to plant trees along the bank of the river."

Q.No: 148 Arrange the sentence parts:
(A) opened (B) suddenly () the door (D) he

DABC
CBAD

DCAB

Q.No: 149 Identify the error in the sentence.

This route is most safer than the highway.
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safer

highway
ThHEi

route

Q.No: 150  Find the incorrect part of the sentence:
The police has arrested the culprit.

has arrested
The police

the culprit

Q.No: 151  Choose the one which can be substituted for the given sentence.
A medicine that induces sleep

Marcotic
Analgesic

Hypnaotic

Q.No: 152 What does the idiom ‘In black and white’ mean?
Officially in writing
In verbal form

In secret

Q.No: 153  Change the voice of the following sentence.
It is going to be constructed by them within a few weeks.

They are going to construct it with a few weeks.

hey are going to construct it within a few weeks

They are going to construct something within a few weeks.

They are going to constructed it within a few weeks.

Q.No: 154  Select the correct active form of the given sentence.
"The hungry dog was gently fed by the owner."

The owner gently fed up the hungry dog.

The owner fed the hungry dog.

he owner gently fed the hun do

The owner gently feeding the hungry dog.
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Q.No: 155  Choose the correct active voice form of the sentence:
"The editorial is written by Mamatha."

Mamatha has writing the editorial.

Mamatha is writes the editorial.

Mamatha writing the editorial.

Q.No: 156  Select the correct active form.
"The truth must be told by you."

You ought to tell the truth.
You must be telling the truth.

You must tell the truth.

Q.No: 157 Select the most appropriate homonym.
The company refused to back the project.

Finish

Leave

Pack

Q.No: 158  Select the most appropriate option to fill in the blank.
She is married a businessman.

at
with

for

Q.No: 159  Select the most appropriate option to fill in the blank.
| saw a man ___ was wearing a black coat.

which
whom
who

whose

Q.No: 160  Choose the part of the sentence that contains an error;
She gave me a good advice.

good

She gave me

No error
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Q.No: 161  In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Artificial Intelligence is reshaping industries. P: It also improves customer service through automation. Q: In healthcare, it helps in
quick diagnosis. R: Al systems reduce human error in complex calculations. 5: From manufacturing to medicine, its impact is visible.
6. Its future role will only expand.

EO
RSQP
QPRS

QRPS

Q.No: 162  Rearrange the parts of this sentence:
(A) despite poor rainfall (B) the farmers (C) managed to harvest (D) a good crop

BDAC

BADC

CBAD

Q.No: 163  Select the option that expresses the given sentence in Direct to Indirect Speech,
He said, "Let me do it myself."

He asked to do it himself.

He suggested doing it himself.

e requested that he do It himself.

He asked to be allowed to do it himself.

Q.No: 164  Choose the correct sequence to form a meaningful sentence:
(A) the guests (B) arrived (C) at the party (D) early

BACD

(A5 D]

BADC

CBAD

Q.No: 165  Select the option that expresses the given sentence in Direct to Indirect Speech.
Rita said, "I am happy today."

Rita said that she is happy today.

ita said that she was ha that da

Rita said that she had been happy that day.

Rita said that she was happy today.

Q.No: 166  Select the option that expresses the given sentence in Direct to Indirect Speech,
He said, "I may go there."
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He said that he would go there.

He said that he goes there.

e said that he might go there

He said that he may go there.

Q.No: 167  Select the most appropriate homonym.
The diver reached the sea bed.

Mattress
Bottam

Rest

Q.No: 168 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The invention of the telescope changed astronomy. P: Scientists could observe distant galaxies. Q: They discovered stars not visible ta
the naked eye. R: Earlier, knowledge was limited to nearby celestial bodies. S: The new tool opened a whole new universe. 6.
Astronomy became a precise science.

SRPQ
PQRS

RP5Q

Q.No: 169  Choose the one which can be substituted for the given sentence.
One who studies the evolution of mankind

Archaeclogist

Sociologist

Philoclogist

Q.No: 170 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The invention of the wheel changed the world. P: Transport became easier. Q: Machines could now be built. R: Travel became faster.
S: Roads improved quickly. 6. It was a great invention.

PRQS
PR3Q

PQRS

Q.No: 171 Select the most appropriate opticn to fill in the blank.
Please switch ___ the lights.

down
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up

over

1|

Q.No: 172 Choose the one which can be substituted for the given sentence.
A place where wild animals are kept

Abattoir

Aquarium

Q.No: 173 Select the most appropriate option to fill in the blank.
The witness was reluctant to part vital information.

by
i
with

from

Q.No: 174  Transform the following sentence into active voice.
The tree was felled by the farmer.

The farmer has felled the tree.
The farmer fell from the tree.

The farmer fell the tree.

Q.No: 175  What does the idiom ‘Te have the last laugh' mean?

Fail hopelessly
Be mocked

Stay indifferent

Q.No: 176  Arrange the sentence parts:
(&) invited (B) to the event (C) many guests (D) were

DABC

DCAB

DACBE
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Q.No: 177 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and S. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Recycling helps in environmental protection. P: It reduces the amount of waste in landfills. Q: Recycling paper saves trees and water.
R: It also cuts down pollution caused by burning waste. 5: But awareness amang people is still low. 6. Public campaigns can improve
participation.

PQRS
QRSP

PR5Q

Q.No: 178 Arrange the sentence parts:
(A) after the meeting (B) the team members (C) went (D) to a restaurant

BADC
BCAD

BACD

Q.No: 179  Select the correct passive form of the given sentence.
"We may have misunderstood the instructions."”

The instructions may be misunderstood.
The instructions are being misunderstood.

The instructions may have misunderstood.

he instructions may have been misunderstood

Q.No: 180  Select the synonym of Loathe.
Accept

Like

Love

Q.No: 181  Select the misspelt word from the list.

Manoeuvre
Reservoir

Camouflage

Q.No: 182  What does the idiom ‘Give someone a cold shoulder’ mean?
Treat warmly
Praise somecne

HgNOre someong
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Invite for dinner

Q.No: 183 | Arrange the sentence parts:
(A) were injured (B) many passengers (C) in the accident (D) yesterday

BCAD

BCDA

BADC

Q.No: 184  Select the option that expresses the given sentence in Direct to Indirect Speech.
she said, “How wonderful the view is!”

She said how wonderful the view is.
She exclaimed that the view was very wonderful,

She said that the view is wonderful.

Q.No: 185  Choose the antonym of ‘enhance’:
Increase

Enlarge

Augment

Q.No: 186  Select the most appropriate option to improve the bold part of the sentence.
The higher you go, the cooler it get.

cooler it getting
maore cooler it gets

coolest it becomes

Q.No: 187  Choose the correct meaning of idiom:
'Show a clean pair of heels'

Run away

Imitate one

e precise and carefu

Spread quickly

Q.No: 188 What does the idiom ‘To turn over a new leaf’ mean?

Repeat mistakes

Turn pages
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Stay unchanged

Q.No: 189  Select the option that expresses the given sentence in Direct Speech.
She told me that | should have been more careful.

She said, "You should have been more careful."”

he said, "You should be more careful.

She said, "You would have been more careful.”

She said, "You must have been more careful.”

Q.No: 190  Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "My parents are visiting next week."

She said that her parents are visiting next week.
She said that her parents will visit next week.

She said that my parents were visiting the next week.

he said that her parents were visiting the following week

Q.No: 191  Choose the correct meaning of the idiom:
*Tooth and nail*

Secretly and silently
Without any tools

In a confused state

ith full strength and determinatio

Q.No: 192  Identify the misspelt word:

Acknowledge

Acquire

Absence

Q.No: 193  Choose the part of the sentence that contains an error;
Neither the teacher nor the students was present.

No error
Meither the teacher

nor the students

Q.No: 194  Choose the correct direct speech form of the following sentence.
The reporter reported that five people had been drowned in a boat accident.

The reporter said, "Five people were drowned in a boat accident.”
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he reporter said, ' Five people are drowned in a boat accident.

The reporter said, "Five people were drowning in a boat accident.”

The reporter said, "Five people drowned in a road accident.”

Q.No: 195 Rearrange the parts of this sentence:
(A) to protect endangered species (B) wildlife sanctuaries (C) have been established (D) across the country

BADC

BACD

CBAD

Q.No: 196  Choose the correctly spelt word:

Occasional

Occational

Occasionale

Q.No: 197  Select the most appropriate option to improve the bold part of the sentence.
She prevented me to go there.

for going
against going
going to

Q.No: 198 Select the most appropriate option to fill in the blank.
The officials connived ____ the illegal activities.

with

on

at

Q.No: 199  Choose the correct direct speech form of the following sentence.
They requested to close the door if he was feeling cold.

He said, "Please closed the door if you are feeling cold.”

e said, 'Please close the door if you are feeling cold.
He said, "Please close the door if you is feeling cold.”

He said, "Please close the door if feel cold."

Q.No: 200  Select the most appropriate option to improve the bold part of the sentence.
Scarcely had 1 left when it was starting to rain.
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had started

was begun

did start
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